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When identifying the domain, look for the leftmost and rightmost points.
Domain: left, right
(-infinity, infinity)
- This means the possible x-values are all real numbers, from the
smallest to the largest.

*parentheses are always used for infinity & negative infinity

When identifying the range, observe the lowest and highest points
Range: down, up
[-15,9]
- This means the possible y-values are every number from -15 to 9.

*closed brackets are used for -15, since the graph of the relation
passes through the point where y is 15, but parentheses are
used for 9, since the graph is open at the point where y is 9.
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When identifying the domain, look for the leftmost and rightmost points.
Domain: left, right
[-1,5]
- This means the possible x-values are every number from -1 to 5.

*brackets, since the graph passes through the points

When identifying the range, observe the lowest and highest points
Range: down, up
[-33]
- This means the possible y-values are every number from -3 to 3.

*brackets, since the graph passes through the points
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Example 3 y *Notice how the lines are
drawn horizontally, meaning
the domain is continuous.
Since the lines are NOT
drawn vertically, the range
is NOT continuous. The
range consists of all
possible y-values in this
case.

When identifying the domain, look for the leftmost and rightmost points.
Domain: left, right
[-4,5)
- This means the possible x-values are every number from -4 to,

but not including, 5.

*brackets, since the graph is closed at x = 4; parentheses
since the graph is open at x = 5

When identifying the range, consider all possibilities for the y-values.
3,-2,-1,0,1,2,3}

*set notation, since the relation is not continuous up & down
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*Notice how this graph
consists of two parts.
Therefore, you will write the
union (U) of the domain and
range for each part.

When identifying the domain, look for the leftmost and rightmost points.

Domain: left, right of left part U left, right of right part
(-infinity, 1) U [2, infinity)

- This means the possible x-values are every number from
negative infinity, to but not including 1 AND every number from 2

to infinity.

When identifying the range, consider the lowest and highest points.

Range: down, up of lowest part U down, up of higher part
{0} U (2, infinity)
*just zero,
since 0 is the
only y-value of
the lower part
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